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BACHELOR'S DEGREE PROGRAMME 
(BDP) 

Term-End Examination 

A_ (DC) 1_ 
	December, 2015 

ELECTIVE COURSE : ECONOMICS 

EEC-07 : INDUSTRIAL DEVELOPMENT IN INDIA 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt questions from each section as per 
instructions. 

SECTION A 

Answer any two questions from this section in about 

500 words each. 	 2 x 20=40 

1. Critically analyse the changes in the structure of 

private corporate sector in India. 

2. Differentiate between Herfindahl Index and 

N-firm concentration ratio. Also explain the 

causes of concentration of industries in India. 
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3. Distinguish between Multinational Corporations 
(MNCs) and Transnational Corporations (TNCs). 
Discuss the role of MNCs in the development 
process of a country. 

4. Explain the various factors which influence the 
location of an industry. Also discuss the 
dynamics of industrial location. 
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SECTION B 

Answer any four questions from this section in about 

250 words each. 	
4x12=48 

5. Differentiate between the concepts of capacity 

utilisation and capacity output. Explain the 
significance of the concept of capacity utilisation. 

6. What is Total Factor Productivity ? Explain its 

limitations. 

7. What do you mean by representative firm ? 

Enumerate its shortcomings. 

8. Distinguish between cost-push and demand-pull 

approach to pricing of a product. How is this 

approach applied to public utilities ? 

9. Differentiate between debt and equity. Discuss 

the sources of equity for a company. 

10. Discuss the role of industrialisation in 

generation of employment. Make use of 

diagram(s) in your answer. 
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SECTION C 

11. Write short notes on any two of the following in 
about 100 words each : 	 2x6=12 
(a) Causes of globalisation 
(b) Trends in foreign direct investment in India 

during the last two decades 
(c) Classification of industries as per Industrial 

Policy, 1956 

(d) Major causes of regional disparities in India 
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